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CNCC-2 : ORGANIZING CHILD CARE SERVICES 

Time : 3 Hours     Maximum Marks : 100 

Note : Question No. 1 is compulsory. Answer any 

other four questions.  

1. (a) Differentiate between the following :  

3 × 5 = 15 

(i) Cooing and Babbling 

(ii) Classification and seriation 

(iii) Structure and flexibility in daily 

schedule 

(iv) Infancy and preschool years 

(v) Free play and structured play 
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(b) The following is a list of activities. State 

one main area in which each activity 

fosters development : 5 

(i) Role play  

(ii) Putting beads in a string 

(iii) Identifying the old picture from a set 

of four pictures 

(iv) Singing a rhyme 

(v) Walking on a straight line drawn on 

the ground 

2. (a) Explain what do you understand by the 

term ‘cognitive development’, giving two 

examples. 5 

(b) Suggest five ways/activities using which 

the parents can promote the cognitive 

development of their child during the first 

two years of the child’s life. 3 × 5 = 15 
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3. (a) Suggest five ways/activities through which 
parents can help children to develop 
altruism and empathy. 10 

(b) What are the advantages of including 
music and movement activities in the 
curriculum of a preschool centre ? 10 

4. (a) What is a growth chart and explain how 
you can monitor a child’s growth using it.  

10 

(b) Is Chappati with pickle a balanced lunch 
menu for a four year old child ? Give 
reasons for your views. 4 

(c) Suggest a balanced lunch menu for a four 
year old child. State the nutrients provided 
by each food item in the lunch menu. 6 

5. Describe one play activity for developing each of 
the following : 4 × 5 = 20 

(a) Language of a two year old 

(b) Reasoning ability of a four year old 

(c) Imagination of a three year old 

(d) Gross motor ability of a one year old 

(e) Social skills of a five year old 
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6. (a) What aspects will you keep in mind when 

evaluating the play activities organized by 

a preschool educator with her group of 

children ? 10 

(b) Give one example each which shows a child 

learning appropriate behaviour through : 

3 + 3 + 4 

(i) Reward 

(ii) Punishment 

(iii) Observation 

7. (a) List the milestones of gross motor 

development in the first year of life. 5 

(b) Describe the behaviours of the infant and 

the mother which help in forming a bond of 

attachment between them. 15 
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iks"k.k vkSj cky ns[kHkky eas izek.k&i=k 

(lh- ,u- lh- lh-) 

l=kkar ijh{kk 

twu] 2021 

lh-,u-lh-lh--2 % cPpksa ds fy, cky ns[kHkky lsokvksa 

dk laxBu 

le; % 3 ?k.Vs     vf/dre vad % 100 

 uksV % iz- la- 1 vfuok;Z gSA 'ks"k eas ls fdUgha pkj iz'uksa 

ds mÙkj nhft,A  

1- (d)  fuEufyf[kr ds chp vUrj crkb, % 3 × 5 = 15 

 (i)  dwtu vkSj ccykuk 
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 (ii)  oxhZdj.k vkSj Øec¼rk 

 (iii) nSfud vuqlwph dh lajpuk vkSj yphykiu 

 (iv) 'kS'kokoLFkk vkSj 'kkykiwoZ o"kZ 

 (v)  eqDr [ksy vkSj lajfpr [ksy 

([k)  uhps [ksy&fØ;kvksa dh ,d lwph nh xbZ gSA 

crkb, izR;sd fØ;k fodkl ds fdl ,d izeq[k 

{ks=k esa c<+kok nsrh gS % 5 

 (i)  Hkwfedk vfHku; 

 (ii)  eksfr;ksa dks /kxs esa fijksuk 

 (iii) pkj fp=kksa ds lewg esa ls vleku fp=k dk 

irk yxkuk 

 (iv) cky dfork xkuk 

 (v)  tehu ij cukbZ xbZ lh/h js[kk ds Åij 

pyuk 
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2- (d)  nks mnkgj.k nsrs gq, Li"V dhft, fd 

^laKkukRed fodkl* ls vki D;k le>rs gSa \ 5 

([k)  ,sls ik¡p rjhds@fØ;k,¡ lq>kb, ftuds }kjk 

ekrk&firk vius cPps ds thou ds izFke nks 

o"kks± ds nkSjku laKkukRed fodkl dks c<+kok ns 

ldrs gSaA 3 × 5 = 15 

3- (d)  ,sls ik¡p rjhds@fØ;k,¡ lq>kb, ftuds ekè;e ls 

ekrk&firk cPpksa esa ijksidkfjrk vkSj lekuqHkwfr 

fodflr djus esa enn dj ldrs gSaA 10 

([k)  'kkykiwoZ dsUnz dh ikB~;p;kZ esa laxhr vkSj 

'kkjhfjd fØ;kdyki lEcU/h xfrfof/;ksa dks 

'kkfey djus ds D;k ykHk gSa \ 10 
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4- (d)  o`f¼ pkVZ D;k gS \ bldk iz;ksx djds cPps 

dh o`f¼ dh fuxjkuh dSls dj ldrs gSa] o.kZu 

dhft,A 10 

([k)  D;k vpkj ds lkFk pikrh ,d pkj o"khZ; cPps 

ds nksigj dk lUrqfyr Hkkstu gS \ viuh jk; 

ds dkj.k crkb,A 4 

(x)  ,d pkj o"khZ; cPps ds fy, nksigj dk 

lUrqfyr Hkkstu lq>kb,A nksigj ds Hkkstu dh 

O;atu&lwph ds izR;sd [kk| inkFkZ ls feyus 

okys iks"kd rRo crkb,A 6 

5- fuEufyf[kr izR;sd ds fodkl ds fy, ,d [ksy&fØ;k 

dk o.kZu dhft, % 4 × 5 = 20 

(d)  nks o"khZ; cPps dk Hkk"kk;h fodkl 

([k)  pkj o"khZ; cPps esa rdZ 'kfDr dkS'ky 
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(x)  rhu o"khZ; cPps dh dYiuk&'kfDr 

(?k)  ,d o"khZ; cPps dk LFkwy&fØ;kRed fodkl 

(³)  ik¡p o"khZ; cPps ds lkekftd dkS'ky 

6- (d)  'kkykiwoZ f'kf{kdk }kjk cPpksa ds lewg ds fy, 

vk;ksftr [ksy&fØ;kvksa dk ewY;kadu djrs 

le; vki fdu igyqvksa dks è;ku esa j[ksaxs \10 

([k)  cPpk fuEufyf[kr ds ekè;e ls mi;qDr 

O;ogkj lh[k jgk gSA bls n'kkZus okyk izR;sd 

dk ,d mnkgj.k nhft, % 3 $ 3 $ 4 

 (i)  ikfjrksf"kd (bZuke) 

 (ii)  naM (ltk) 

 (iii) voyksdu 
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7- (d)  thou ds izFke o"kZ esa LFkwy&fØ;kRed fodkl 

ds ekunaMksa dks lwphc¼ dhft,A 5 

([k)  ek¡ vkSj f'k'kq ds mu O;ogkjksa dk o.kZu dhft, 

ftuds dkj.k muds chp yxko fodflr gksrk 

gSA   15 
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